QUESTION BANK

CLASS 12"

BIOLOGY
UNIT-3

ASSERTION REASON QUESTIONS

Instructions:

Select the correct option for each Assertion-Reason question.

(A) Both assertion and reason are correct, and the reason is the correct explanation of assertion.
(B) Both assertion and reason are correct, but the reason does not explain the assertion.

(C) Assertion is correct, but the reason is incorrect.

(D) Assertion is incorrect, but the reason is correct.

G
1. 9cddh 9T H UH HUA(A) 3R T FROT (R) G 3101 &
2. 3O Gl FYUAT T AU TARATT ek HEN 3T I TG el o
A) A3 RS TET 8, 3R R, AT T SIT&AT T g
B) AR REAT TEY & Afhad R, AST FEY ATEAT AL Tl
C)ATEY &, dfhaT R I &1
D) A TTeTd §, Afthel REEY &

Assertion-Reason Questions
Instructions (fA&r):

For each question, select the correct option:

(A) Both Assertion (A) and Reason (R) are correct, and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

T 92T & fov T [Fhed 1 IIT

(A) YT (A) 3R FROT (R) AT Ter &, 3R FROT (R), FUT (A) $T TaT <IQrEdT gl
(B) ®UT (A) 3R HROT (R) gl TEY &, Afhed ®ROT (R), FUT (A) Fr TET Irear A8
gl

(C) FUT (A) TEY &, Afhed HROT (R) 79T B

(D) U (A) ITeld &, eifdhel HROT (R) TET &

1. Assertion (A): HRAT 3T Plasmodium ILSTAT & HROT AT gl
Reason (R): {IRAT & foIT ITRGRI Plasmodium & T IR TH & SfiaeT ah
T 3TTEOT I & |
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Assertion (A): Malaria is caused by the Plasmodium parasite.
Reason (R): All types of Plasmodium responsible for malaria follow the same life cycle.

2. Assertion (A): S aRIH UfSH HAToX & &l & Hordm &
Reason (R): Uf3T #<eR dad Ud & IHI IihT giar &l

Assertion (A): Dengue virus spreads through the bite of an Aedes mosquito.
Reason (R): 4edes mosquitoes are active only at night.

3. Assertion (A): TISHISS 9T Salmonella typhi SETI] & HROT BT g

Reason (R): TI3HISS 9T dhdel G Ul & ddel A theldr Bl

Assertion (A): Typhoid is caused by the bacterium Salmonella typhi.
Reason (R): Typhoid spreads only through the consumption of contaminated water.

4. Assertion (A): IHTT HET (Common cold) IR & HRUT glel dTell TshlHS 9T
gl
Reason (R): TTHAET TSP T & faIw Ioerdt aRy k¥R & 376X gfaret
JoTTellr &l JHTTad T Bl

Assertion (A): Common cold is an infectious disease caused by a virus.
Reason (R): The virus responsible for the common cold affects the body's immune
system.

5. Assertion (A): USH AT HIV aIRT & HROT &Il &l
Reason (R): HIV &hadl IFd & ATETH & theldT g, 3+ RIS IRl derdi &
sTel |
Assertion (A): AIDS is caused by the HIV virus.
Reason (R): HIV spreads only through blood and not through other body fluids.

6. Assertion (A): $ET AT AR FATST & HROT BT &l
Reason (R): HhaX & T YR IIA GHAUT & HRUT gid g

Assertion (A): Cancer occurs due to uncontrolled cell division.
Reason (R): All types of cancer are caused by viral infections.

7. Assertion (A): USH & Hlg TARN SolTol 3TTsY oTgT ¢
Reason (R): HIV IR ITaR&T YuTelr & E-HIfRAFI3T &Y 7S¢ aar gl

Assertion (A): There is no permanent cure for AIDS.
Reason (R): The HIV virus destroys the T-cells of the immune system.

8. Assertion (A): RIS 3R 2l ar3tt &1 Ao aAfdased i FRIVom Fi
gTfad X HhaTT &l
Reason (R): AfFdSH # #gUeraaier T afafafd 7 seora o 3R sar &

$RUT FoT TohaT gl

Assertion (A): Consumption of alcohol and drugs can affect brain function.
Reason (R): Changes in neurotransmitter activity in the brain can lead to addiction and
dependence.
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9. Assertion (A): ITR&T TS ¢RI Pl ThAUT T Fdlel H HAGG hdll gl
Reason (R): 9Ta&TT YOTell & shdol Terdisr AMTAS &I &

Assertion (A): The immune system helps protect the body from infections.
Reason (R): The immune system consists only of antibodies.

10. Assertion (A): S1hTRITT ThATT A F&T YeTel Al &
Reason (R): & R # Marsfeter fawI0] a1 Sharo] &t @fsha a2 o &

Assertion (A): Vaccination provides protection against infections.
Reason (R): Vaccines activate pathogenic viruses or bacteria in the body.

11. Assertion (A): Lactobacillus G 1 &gl H ol H #AGE el g
Reason (R): Lactobacillus ofFelsT &l offdee 3 & gRafdd adl o

Assertion (A): Lactobacillus helps convert milk into curd.
Reason (R): Lactobacillus converts lactose into lactic acid.

12. Assertion (A): Saccharomyces cerevisiae T 39T §8 dedled H fhIAT IATAT gl
Reason (R): Ig el SISHFASS I Icdeed T &, [ 08 55 ol STl &

Assertion (A): Saccharomyces cerevisiae is used in bread making.
Reason (R): It produces carbon dioxide gas, which makes the bread rise.

13. Assertion (A): VESTeFa T 39T SNAT] HhAU & 3UAR A fohar e gl
Reason (R): TEIETANRFH aRRS THaA0T &l 3 IHTd & & EF N T &1

Assertion (A): Antibiotics are used to treat bacterial infections.
Reason (R): Antibiotics can also effectively cure viral infections.

14. Assertion (A): Sid 3d¥e AT HTI 3aIAT T deld ¢ |
Reason (R): S1d 3a¥ehl H FTgclolel EUASUT Hlal dlel FEASIT Bl &

Assertion (A): Biofertilizers enhance soil fertility.
Reason (R): Biofertilizers contain nitrogen-fixing microorganisms.

15. Assertion (A): Rhizobium SaT0] WellgR ditt T S5t & 91w S ¢
Reason (R): Rhizobium SIHSAT wATSErolel T FEAJHIOT T diel T 3qelstr

T &

Assertion (A): Rhizobium bacteria are found in the roots of leguminous plants.
Reason (R): Rhizobium fixes atmospheric nitrogen and makes it available to plants.

16. Assertion (A): 3(UTRISC Sfel 3UAR H FEASIA! T ITANT HAT ST &
Reason (R): G&HST Hefaieh geradf & fqufed #X stel &1 e #d &

Assertion (A): Microorganisms are used in wastewater treatment.
Reason (R): Microorganisms decompose organic matter to purify water.

17. Assertion (A): Mycorrhiza it & foT AreTeRRT
Reason (R): Ig Uieil &Y 39T 9IWeh dedl & 37a@eNVOT & Heg T gl

Assertion (A): Mycorrhiza is beneficial for plants.
Reason (R): It helps plants absorb essential nutrients.
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18. Assertion (A): S1d fAI0T Tole GTEROT & IHefehel B B
Reason (R): ¥ JAI{Ieh hieaAlerhl &I Jefell 7 i griateheh gl g

Assertion (A): Biocontrol agents are environmentally friendly.
Reason (R): They are more harmful compared to chemical pesticides.

19. Assertion (A): TSI 3cATea H Saccharomyces cerevisiae T 39T fohaT ST Bl
Reason (R): I§ AR F fhugsl X TAATS 3cdee] T ¢

Assertion (A): Saccharomyces cerevisiae is used in ethanol production.
Reason (R): It ferments sugar to produce ethanol.

20. Assertion (A): Clostridium butyricum SRR 37916 H HEOS g
Reason (R): Ig H1AT 3T 3cqeaT T B

Assertion (A): Clostridium butyricum helps in biogas production.
Reason (R): It produces methane gas.

MCQ

1. A family living in a tropical region frequently suffers from malarial fever despite using
mosquito nets at night. What additional preventive measure should they take?

Ueh 3WUThRTETUT 819 H @l dlell Ueh URAR HARAT & FRUT IR-IR §IHAR IST g,
o & 3 T H AT I 3T FA 81| 3o Hiad a1 faRea Aware 39
I9ATAT TTRT?

(A) Use insecticide-treated bed nets only at night

had Ud H HICATAH-ITATRT HTOIGAT T 3YAT |
(B) Eliminate stagnant water sources near your house.

9 BX & 9 & Sl Fidl & AT |

(C) Increase intake of antibiotics to prevent malaria

HARAT & darg & fav therifesd &1 31w ddd Fi|
(D) Wear synthetic clothing to avoid mosquito bites

AT & Flead F 994 & v @ARE Fug gga|

2. A doctor suggests a dengue patient consume papaya leaf extract. What could be the possible
reason?

T SfeFeY 59 & FIST & gdid &1 gl &7 316 o T Fellg &l g1 S8 Farrfaa
$RUT T & ohdT g?

(A) It increases white blood cells (I8 dd IF DIADIAT DI TG &)

(B) It boosts platelet production (Ig Telcelc 3cUIGeT I FEIdT g)

(C) It destroys the dengue virus (Jg ?TL IRRE Hl IS¢ HLAT §)
(D) It acts as a painkiller (Jg && faR® & T H F T )

3. A person suffering from the common cold is taking antibiotics but is not recovering. What is
the most likely reason?
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el ¥ Qifsa ve affa tderafesy o @ &, Afha & 78T 8 WwT &1 sTer ged
Ffad SHROT FAT &7 Tehdl &2

(A) Antibiotics only work against bacterial infections
(CASRFE Fad SFARTS THAUT T HH A §)
(B) The dose of antibiotics is too low

(TWIerfead & T Igd A )

(C) The common cold is caused by drug-resistant bacteria
@A T sar-gfae SFERAT F FROT BT §)
(D) The person has developed immunity to antibiotics

@fFd & theifead & gfa gfaus aredr [ & a1 §)

4. A city with high air pollution levels has reported an increase in lung cancer cases. What is the
most probable reason?

T AT H a1 Jg¥UT & 3T &R & HROT Bhsl & $Hak & AHA H Jeftr o&r 75
€| ST TEE FHTTAA HROT FAT g1 Hehell g7

(A) Exposure to carcinogenic pollutants

(Fatarl YeuH & HIH H )

(B) Deficiency of vitamin D

GCRIGGEE T

(C) Increased use of antibiotics

(TN &r 318 39I19)

(D) Genetic mutations due to high protein diet

(3Td N HER F FHROT Ied RS 3cqRdcle)

5. Which of the following practices is most effective in preventing HIV transmission?
faf@a & & oia O 3T Ta3nsdr TTReT & Ashed A 9T THTET §2
(A) Avoiding physical contact with HIV patients

T3msdr AT & arer aiRe Tud & §we

(B) Using sterilized needles and practicing safe sex

shreroy IR eIl I ITANT AT IR QAT DT e Selrem

(C) Taking antibiotics after exposure

H9F & dIG TCarAfead ofelr

(D) Consuming immunity-boosting foods

9T FfeRIYSF &THAT Selel aTel Wi Yerdi T Adel el

6. A person suffering from frequent digestive issues starts consuming curd daily. What is the
scientific basis for this?

SR-SR 9ol FHEEAST @ N3 gibd wfdfeeT gl 1 AaeT Y& FXT &1 FHA
Jarfaer 3MUR &1 §°
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(A) Curd contains bacteria that help in digestion

cEr H 00 SFARA g € Sty & A Fa gl

(B) Curd neutralizes stomach acids

&gl 9T & TS & fAfsea axar gl

(C) Curd increases calcium levels in the body

GEr e # HTov™IH HT TR FeIaT ¢

(D) Curd kills harmful gut bacteria

Gel ATdl & gIfeiohReh SFEIRAT FI ASC I g

7. Overuse of antibiotics can lead to antibiotic resistance. What does this mean?
TaeRfeTd & 31f0% 3uAer I vderfes a0 & Gohar §1 sgaT a1 37§
(A) Bacteria develop immunity against antibiotics

SFIRET TEERIeHd & gfd gidiees &THdr [asfdd & od 81

(B) Antibiotics become more powerful over time

TAERAeHFT AT & 1Y J¥ YAETr g1 Srar &

(C) The immune system stops responding to infections

faReTr Jomel FHAUT W Ifafshar ¢ar §g FX & B

(D) Antibiotics start working against viruses

TAERIeHFT Ry & @ H1H e o9t &

8. A farmer wants to improve soil fertility without using chemical fertilizers. Which of the
following should he use?

T fohdTeT T9eTT TAIeeh 3aThi & 3UANET fohT fACE & 3aar # FUR &l rgar
gl 30 Aeafaf@a & & F97 39T T arge?

(A) Rhizobium and Azotobacter
TSSfTIA 3 Taedeey

(B) Penicillium and Aspergillus
ofafafeas 3k TeRfSeE)

(C) Streptomyces and Mycobacterium

(FECSTATSHIE 3R ATGhISFIRTH)

(D) Salmonella and Vibrio

@reaerem AR fafsan)

0. Which of the following diseases is caused by a protozoan but transmitted by a mosquito?
fArafaf@a # & sl @1 A7 N3 & HROT giaT § Afehed Ao gar’T heldr g2
(A) Dengue / ?J[\

(B) Malaria / HeIRaT

(C) Chikungunya / TaIsheta]farar

(D) Pneumonia / Fﬂ(}ﬁﬁ'&T
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10.  Which bacterial disease is diagnosed using the Widal test?

el AT JFNTT T TASTT S GART YgATAT ST 82
(A) Typhoid / CTS®ISS

(B) Pneumonia / Fﬂ(}ﬁﬁ'&T

(C) Tuberculosis / W

(D) Diphtheria / f3ciiRar

1. The incubation period of Plasmodium vivax in the human body is approximately:
Plasmodium vivax &T AT AR H FSHARIT Il o[FTHIT fhaer giar g2

(A) 6-8 hours / 6-8 €&

(B) 10-14 days / 10-14 f&=T
(C) 3-4 weeks / 3-4 "HTdATg
(D) 1-2 months / 1-2 HgleT

12.  Identify the type of immunity provided by a vaccine:

&1 (Jerler) fore wehR T Q9T UfaRIYe 87T Tl aXar 82
(A) Innate immunity / STeHSITd ITILET

(B) Passive immunity / ffSpa gfaear

(C) Active immunity / GferT gfaveT

(D) Auto-immunity / TI-HTa&T

13. HIV targets which of the following immune cells?

HIV eafaf@a & @ e uforem IR & wenfaa wwar &2
(A) B-lymphocytes / a“r-ﬁ»lxmm

(B) T-helper cells (CD4) / E-geuX hIfAFIT (CD4)

(C) Macrophages / #HspIthal

(D) Natural Killer cells / TgXel fherx ahifRIshe

14. Which of the following is not a symptom of amoebiasis?

fefaf@d & @ S ar Fafor e & 78 82
(A) Loose motion with blood / 3&d AT g&a

(B) High fever / oo @R

(C) Abdominal cramps / 9 H U&eT

(D) Cough and cold / @TET 3T Tl
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15. Which type of tumor remains localized and does not spread to other body parts?

it HT YehR T e hdel Teh TATHA W &1 Bl ¢ R RN & 37 it A g
el

(A) Malignant tumor / ?TI' 3-1'51?{

(B) Benign tumor / {I;C'GT 3-1@?{

(C) Carcinoma / HITATAT

(D) Sarcoma / TTHIAT

16.  Which of the following is a hallucinogenic drug?
afaf@a & O 19 ar s Afdyd 3cuea s arer aLfer gered g2

(A) Heroin / g1geT

(B) Cocaine / hlehleT

(C) LSD (Lysergic acid diethylamide) / TelTHa! (ST Toleh TTHS STATIAATATSS)
(D) Morphine / HiftheT

17. Which microbe is used in the production of Swiss cheese?

aq et & 3curesT & fovd GeaASia o1 3TN fohar ST g2
(A) Penicillium notatum / ufafafegs aArces

(B) Saccharomyces cerevisiae /AHAATSHIST IXTAET

(C) Propionibacterium shermanii /A SFEIRTF raAT=r

(D) Aspergillus niger /TERSEH TSR

18.  Which bacteria is used in the commercial production of butanol?

sgCTAIel & SIS 3culeal H fohd Siaro] &1 3uler fahar Sirar g2
(A) Clostridium acetobutylicum /FAEISTH THIsgfelerens

(B) Lactobacillus acidophilus /oleeisfera vfasifheaa

(C) Streptococcus thermophilus /E¢Teiihd TA hore

(D) Rhizobium leguminosarum /T {aas a?'flgﬁl?-ﬂw

19.  Which of the following microbes is used for sewage treatment?

fAefaf@d & @ @l a1 geasia @dst 3Tar & 39T fhar Sirar g2
(A) Rhizobium Riaifege

(B) Methanobacterium /HraaATdFEI RIS

(C) Lactobacillus /cierctsf&erd

(D) Aspergillus/ TERTSTE
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20. Which fungus is used in the production of cyclosporine A, an immunosuppressive drug?

SleT & hash AT A (Wcel GATHRT gan) & 3curesl H 39T fohdm Srar
g7

(A) Penicillium notatum 9fAfAfezA Acer

(B) Aspergillus niger YERTTTH A3

(C) Trichoderma polysporum ETSehISIHAT Tl

(D) Saccharomyces cerevisiae TaRTASAST TAAT

21. Which of the following is an example of a bio-control agent?
fArafaf@a # & &l Sa-fAg7or vaie #1 3qor &2

(A) Bacillus thuringiensis

(B) Escherichia coli

(C) Salmonella typhi

(D) Mycobacterium tuberculosis

22. Which antibiotic is obtained from Penicillium notatum?

Penicillium notatum & i T TEIGTAESH T @HT %"?
(A) Streptomycin / TCTEIHATS &l

(B) Penicillin / 9ff& ot

(C) Erythromycin / TRAATSAT

(D) Tetracycline / SCTETS [Folel

23. In biogas production, which gas is produced in the highest amount?

IR 3cUeT H 99 31f8% Ar & i O g sadr &2
(A) Carbon dioxide / I SSHTFATSS
(B) Methane / Hr&eT

(C) Hydrogen sulfide / §T83Iole] HohISs
(D) Oxygen / ST

24.  Which microorganism is used for the large-scale production of ethanol?

TSl & 99 YA W 3cUes & v fha geasia HT 39T fhar Srer §?
(A) Saccharomyces cerevisiae/ THATSHIST AfaAT

(B) Rhizopus stolonifer/ IESTH TTaleTh

(C) Lactobacillus bulgaricus/ JFIdf@erd germied

(D) Pseudomonas putida/ TISAAE gfesT
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One Word Answer questions

1. Which protozoan parasite causes malaria in humans?

HISAT F HARAT fohdl WSS WRaltdl & HROT gl 82

2. Which bacterium causes typhoid?

TIEWISS v SFEIRAT & HROT gidT g2

3. Which immune cells are targeted by HIV?

HIV foheT Gfaat I3t &l A& serar g2

4. Which viral disease is transmitted by the Aedes mosquito?

hieT AT FAWITSIfeeT a7 TSl HeoX &a@RT theldl &2

5. Which enzyme produced by retroviruses helps in reverse transcription?
AR @RI 3cdiied Hied AT TosH R gifheid # #Ace il 87
6.  Which fungal species is used for the production of penicillin?

UfAfafed 3cures & v ffvg e gafad &1 3931eT fohar ST 82

7. Which microorganism is used in ethanol production?

e 3cUiee H fohd FeAsa T YT foham Srem g2

8. Which nitrogen-fixing bacteria live in root nodules of leguminous plants?
il AT ATgerolel [T A arelr Siaro] eefgelr atet v st v et & qrar
ST 87

9.  Which gas is produced in the highest amount during biogas production?
AR 3cUTeT H e 3fF AT 7 Hlad A 3 IcTeaT gt §?

10. Which immunosuppressive drug is produced by Trichoderma polysporum?
TISHISTAT TTeEIRA SaRT HieT AT FfcRel GHTRRT gar da1s ST 82

11.  Which vaccine is administered at birth to prevent tuberculosis, forming a scar at the
injection site?

SToH & FHI T T AT dufes (EE)) & bt & AT oemar s g, 5o

SAFAT TATT T AT §IT &7

12.  Which antibiotic, first discovered by Alexander Fleming, is widely used to treat bacterial
infections?

sl AT TSI, [ ggell aR 3elaroisy Flffar o @IS T, Shar] dshaAvl &
Sollol H <OT9eh & & 39T fohdT ST 872
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2 Marks Questions

1.

ST, AARAT 3R Fheterierar ST SATRar 9 ast &g & 31f¥e herdl &
e Tk 8T 7 3T W & AHS ot ¥ 96 W/ &, dl q81 A TAHAT WHR A
Pid-pld T [FaRe 39T 39T ATfeT?

Diseases like dengue, malaria, and chikungunya spread more during the rainy season. If
cases are rapidly increasing in an area, what preventive measures should the local
government implement?

Teh hFd IT: 38 o9l 3N @R #T R Har g1 s o g f& ag
dFERTST FHAUT F NfST B, et 307 et & Sod TR gar
AEl| 39 e # ey 3 TaORIReH o & fau & gasmem

A person frequently experiences chills and fever. The doctor diagnosed him with a

bacterial infection, but he asked for an antiviral instead of an antibiotic. How will the
doctor explain why he should take an antibiotic?

Teh IS H, Toh & g$ 1 TR-SR 3TANT el & F© QW™ H HIV HsheAoT
R 7| I8 ThAUT R H FE YhR 99T HAT § AR 380 s & fow
Slel-hled F AGUIAAT ST ATRT?

In a hospital, some patients were found to be infected with HIV due to the repeated use of

a single syringe. How does this infection enter the body, and what precautions should be
taken to prevent it?

T e 379a) @dl & SAf3s Wi &1 39T HIdT & STdfeh 3THT gardr
TERIfAS 39T T 3TART FAT g1 od THT F 5 318 aner fFeem 3ik
FI1?

A farmer uses organic fertilizers in his fields, while his neighbor uses chemical fertilizers.
Who will benefit more in the long run and why?

fg ol safdd &I a¥ & IR-sR @AETr gar §, ar 38% 9foReT a7 4§
HTRT hieT-HT AT & Hehcll 52 39 Holed el & felT FAT fhaT ST Hehl
&7

If a person frequently suffers from pneumonia in a year, what could be the possible issue
with their immune system? How can it be strengthened?

gﬁﬁﬁ,g@ﬁ%@wmwmmﬁmqmaﬁw
ST &1 3T TFATAT ST FRUT FT & ThdT g, 3R 38 AUshad & fow Fa7 Thar
ST anTfgu?

Over the years, some antibiotics used against diseases become ineffective. What could be
the reason for this problem, and how can it be prevented?

Ueh cFigd W 3R TMel Ean3it &1 Jad F 6T &, g 396 gRar &r
g 3R 3nfde a3t &1 e FTEr us BTl 38 R 3R
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AT TAREZT W AT IHIT IS Thd &7

A person has started consuming alcohol and drugs, causing social and economic
problems for his family. What could be the effects on his physical and mental health?

8. $EX & FT AHC H HIAIAT HT 3UANT AT ST &, olfehed Tg 3R AU
AT gl aidT| UAT FIT 8T §, 3R FI1 5T 31T Ahed 3uctedr g2

In some cancer cases, chemotherapy is used, but this treatment is not always effective.
Why does this happen, and are there alternative treatments available?

9. FT HACA-TAAT 39 FTal T ARTHRIVT et Fa & A0 A ¢, Fad 3as
AT 8l T Wl 96 ST g1 39 TG H SIaor & dATfeeh Hged
HASTLSU|

Some parents decide not to vaccinate their children, increasing their risk of infection.
Explain the scientific importance of vaccination in this context.

10. 91 ATl & T@get dTel o9l H 3HFE HA HHHOT (Helminthiasis) I ST B
5 HHAUT I AT el & AT FiFderd 3R Aegeifs &) ) F41 39
frw ST Fha B2

People living in unhygienic water conditions often suffer from worm infections
(Helminthiasis). What measures can be taken at individual and community levels to
control this infection?

11. T Qe H afgd Al 3UTR FIF(HAST EICHC Tollc) &l 3dleieh 8¢  [edr
I, fSad 9re & FEr A YeNUT §¢ Il SEY ASfadl 3R 3 ST Siat

U AT YATT IS99

A city's sewage treatment plant was suddenly shut down, increasing pollution in a nearby
river. How will this affect fish and other aquatic organisms?

12. 33 3ehIeT A Fo Hufrdl &g 3R TR T & v fafise geasiar #
3UANET I 6| Tg UhdAT 3o URURSH ATAT & »d Fet &, 3R T F41
T 87

Some dairy industries use specific microbes for making yogurt and cheese. How is this
process different from traditional methods, and what are its benefits?

13. fhdir 89 & Sfd IA0T (Biocontrol) ToieH & 3UANET T hicATohl &l FAET &hal
8 T, olfchel o fhATAl T Ig Al Gde gt 3AT| 38k S Hemfad
$RUT FIT & gohd 82

In an area, the use of biocontrol agents reduced pesticide use, but some farmers did not
prefer this method. What could be the possible reasons behind this?

14. P1S IIFA 9T ST 6T ToAlg & TETAIeTFH FT TR-gR 3TANT T &l
Y R 9 FIT YHAIT IS TohdT g, IR Ig Terdifca IfaRIeT (Antibiotic
resistance) F FH §@l Hehdl %?
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A person frequently takes antibiotics without a doctor's prescription. What effects can
this have on the body, and how does it contribute to antibiotic resistance?

15. &g 3TN # 39fArse ST &1 3T fAgere =gt forar S, e So aia
G 8 ST &1 geHAsldl & 3UANT & 30 THEAT HT A Ha fhar S
GohdlT &7

Many industries do not properly dispose of wastewater, leading to water pollution. How
can microbes be used to solve this problem?

16. fordlleT 39eT Wl A AT Gl 3T o Solg Sid 3aTehl I ITINT kel
ot §1 a5 aIRFEfahT 3R s &1 qomear & v F& wreAg 82

Farmers have started using bio-fertilizers instead of nitrogen-based fertilizers. How is
this beneficial for ecology and soil quality?

17. fordlY o & qravte @I wrad fohar arm, forad gt & el Y Sgd e
E3T| SRR 3cTest BT Gfsham # FeFsial T HHGT FAT gl &2

A biogas plant was set up in a village, benefiting local farmers. What is the role of
microbes in biogas production?

18. &Y AT 8 odled H YA gl aTelm FXC (Saccharomyces cerevisiae) Thd THR
FIH T ¢, 3 Ig §5 & T T daide T HQ gHad =ar &2

How does yeast (Saccharomyces cerevisiae) work in making bread or roti, and how does
it affect its taste and texture?

19. bfFeat & a3 A= o yfasifast &1 3curesT fhar Srar &1 59 3curesT ufshar
# ford gpR & FEASHdl 1 30T 6 S g, 3R d gfasifas H8 3cueat
A &7
Factories produce antibiotics on a large scale. What types of microbes are used in this
production process, and how do they generate antibiotics?

20. S R H 39 Tolllfesh & Told Safaeiieor ShfSer greaelt &1 39T fhar
ST T@T & geAsa 38 9ishdr 7 8 W g §ohd &7

Some countries have started using biodegradable packaging instead of plastic. How can
microbes assist in this process?

3 Marks questions

1. T g H HAAIRAT & Fod AHAT & bl & [T gy & Al & ghed 3R
HTOLGIAT 1 3UANTT el hT Hellg &1 M| 3o U & dATfAsh TR A
SRR

In a village, to control the rising malaria cases, people were advised to cover water
sources and use mosquito nets. Explain the scientific basis of these measures.

2. I U AP A IR-GR SHISS & T@T §, dl 3Hh HATTAT HROT AT &
Tohd £7388 TU9 & v fora 3urat &1 aresT fohar S anfge?
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If a person suffers from typhoid repeatedly, what could be the possible reasons? What
preventive measures should be taken to avoid this?

3.W€aﬂ?craﬁmw@'o‘—s’w|w?Isfgau'g’m,ama‘ﬁrﬁww%
38 (o H CASANSIA Rofdl FHislg &1 38 Rufa & Hla-ar dshaor gam

§?38% oeTuT IR 3UAR §dsU|
A person suddenly developed chills followed by high fever, and tests revealed

Plasmodium parasite in the blood. Identify the infection and describe its symptoms and
treatment.

4. USH & Th AQST & GA F ST H CD4 FIRHB H FEA1 g el IS TS|
%%ﬂﬁﬁmg@ﬁﬁt%qﬂmwﬁm%ﬁ

A blood test of an AIDS patient revealed a significantly low CD4 cell count. How does
this condition develop, and what could be its consequences?

5. gfe fdt cafea o saua & & SRS ST R mar =T &, ar F=r 39
TIRFANTAH gled T FHTAT TcA &1 Sl §2 3l 3R A qredr RS

If a person received a BCG vaccine in childhood, does it eliminate the chances of
developing tuberculosis? Explain your answer.

6. Ush Thol H o OME! HI I &1 141, Siafeh 3w o FIad | 39 fawaar
F NS gATTAd ATk IROT FAT & Tohd 8?2

In a school, some students contracted dengue while others remained unaffected. What
could be the possible scientific reasons behind this difference?

7. frdY safdd @ Shamvleifad fFaAIar iR arater @aEfaar 7 3iaw & gl
alAt T ggee AR TR # HET I F4AT 87

A person needs to differentiate between bacterial pneumonia and viral pneumonia. What
are the key differences in their identification and treatment?

8. Ife U GAIRTAT H UEISISIST &l 3cUIeed fohdT ST T&T &, a Sidd-ahleT AT
dheilch SHH HETIH & Thdl 82 SeIh 39T WX Higred feoquly +y|
If antibodies are being produced in a laboratory, what techniques can be used? Briefly
discuss their applications.

9. T fFAR 5% # Alcwh uerdf & g fir e [Frfaa & W &1 59 g&en
F AT FROT 3R FHAS W 8% Y&l & faewor fHifaw|

A teenage boy is developing a habit of substance abuse. Analyze the possible reasons for
this problem and its impact on society.

10. afE fomel safed &7 ek o 9ic Agqw & W & 3R Ao & ToiT &
T g, dl 30 9IS FiA-A7 7R AR & Tohdl 82 50 el IR AhAH &
IR H faf@u|
If a person notices a lump in their body and is losing weight rapidly, what serious disease
could be the cause? Describe its diagnosis and prevention.
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11. 91 forel i &7 & ueik 3R &g SRl wie arAafy i 3mavyerdr g, ar agt
gelch 3cdlee & folv -8 FeAsa 3uler T ST Hehd g2

If dairy products like cheese and curd are required in a remote area, which microbes can
be used for their production?

12. U H¥ d3AMeh o Wl H TEE (AR Saehl I SIETg Sid-3alepl T 3TANT
A T ToATg & SolehT ST R GHTAT T HodTehel |

An agricultural scientist recommended using bio-fertilizers instead of chemical fertilizers.
Evaluate their benefits and effects.

13. 9% vk Femer 7 darer AR Sl At B 3cafoE g B W g ar sue
gofad $ROT 3R 399 FAT & Thd 87

If a reservoir shows excessive growth of algae and aquatic plants, what could be the
possible cause and its remedy?

14.Wﬁaﬁmﬁ%ﬁﬂw§ﬁﬁﬂﬁaﬂﬁé¥ﬁvwmq%d AT 3R
YOIl oRTIS a5 | 36 Uishdl A fohll YehR & GEHoNG! T 3UATET FohaT ST &2

A village installed an efficient sewage treatment system to ensure water purity. What
types of microbes are used in this process?

15. Tohell g JEEOT Sehis A difdfesh TS SiaTo] &1 3udeT fhan S 81 59
Sfraroy &1 effdeRr 3R el s auter HIfST|
A dairy processing unit uses lactic acid bacteria. Describe its role and benefits.

16. Ife Teh Si-hIeIRIF I TRURE HICARID! FHI Telell H 38 Ferrdy Al
ST &, df 9% RO &7 VT |

If a bio-pesticide is considered more effective than traditional pesticides, analyze the
reasons behind this preference.

17. T daTfaAeh of Jeiforad WX fAIRar &7 & & v Sa-39a 3carge &
JHIAd HT| 3H TGl H ASHIeH I fAFT & 3ol H|

A scientist advocated biofuel production to reduce petroleum dependency. Discuss the
role of microbes in this context.

18. If T Sla-3ieAffie @I # TaEReE 3cured A g =1 g, aF 8%
AT SHROT FAT g Thd g2

If an antibiotic production plant experiences a decline in output, what could be the
possible reasons?

19. fordll eMerendll & qrm o @@ 3afise ST # geAsial & 39T &
YCHUT T BN &G oeh A AT ST Hehell §1 3H TishadT T FASSUI

A researcher found that microbial use in industrial wastewater can significantly reduce
pollution. Explain this process.

20. TFIT AT 8T H FR F Afde AU & T v gaEr Aswifdad @
IT TG Fam 7| 39 9 & T Fa H [ 3R st Fr gHsmsT)
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A microbial compost plant was set up in a rural area for efficient waste disposal. Explain
its working mechanism and benefits.

4 Marks questions

. T 0T &1 7 AT & A e oY od S §1 Th
TREGEe & &9 H, 39 fohel 3UTAT &1 FoAra &1 Arfeh 38 JER & kT ST Hh?

A rural area has seen a sudden rise in malaria cases. As a biologist, what measures would you
suggest to prevent its spread?

2. TIsWIss ¥ Q3T Ueh IfFd Fl SIdeX of Widal Test T ST Tellg &1l 3
TET0T o S 1 ATl fAeHid FHSET IR TaET % sqd cgwEs d gite
HH gIdr 87

A person suffering from typhoid is advised to undergo the Widal Test. Explain the scientific
principle behind this test and how it confirms typhoid.

3. e v AT ARAT & (Vaccine) & FeITa T Jorealr ol Hisier & @ et
g, ar fheT daieh ATEsT T 3UAeT fRaT ST

If a newly developed vaccine needs to be compared with an existing one, what scientific criteria
would be used?

4. U OV &7 A 397, Reper]iaar 3R #AARAT & A TF A1y W A0 §| 5T
SATRET & JER A Aahet & AT Tk gt WiEhfa &1 geaa §faw)

A specific region has reported cases of dengue, chikungunya, and malaria simultaneously.
Propose an effective strategy to control the spread of these diseases.

5. UsH (AIDS) 3R FWR gt & R SRt &, afea s Aer-3cufa
(pathogenesis) 3 faz=or & HEF:I'Q;UT 3R g1 3o HR FI TIsC FfAU]

AIDS and cancer are both severe diseases, but there are key differences in their pathogenesis and
control. Explain these differences.

6. fe fordr &9 A E(Ifﬁf THAUT (Helminth infection) S Ascaris 3R Filariasis 318
qIT ST g, df 388 A W USel dlel YHET &1 [a2evor fifaw iR Iwae & 399
LEUEN

If helminth infections like Ascaris and Filariasis are prevalent in a region, analyze their impact
on society and suggest preventive measures.

7. $s &2 H ThRT & Age gerdt & AaeT T TALAT 96 Wl &l 9% oAiddh
IR aEfas garal &1 aRewor fAifSv 3R 37 | HIF07 & fow aarfas TiSeaior
q geig QT

Many countries are facing rising cases of drug abuse among adolescents. Analyze its biological
and social impacts and suggest control measures from a scientific perspective.

8. giaeiider garll & 3cafie 3T A $s SFCIRAT GTRIET (antibiotic-resistant)
S b &1 TH THEAT HT gl el o (AT dAMMeAeh & & FAT fhar S Tl 82

Overuse of antibiotics has led to antibiotic-resistant bacteria. What scientific measures can be
taken to address this problem?
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9. U 7id A Fo AFAAT H BTl HHAU (Ringworm) T FHEAT SHT TS| 56
T & JAR & HRUN AR ARAH & 3UTAT HI TISC HITAT|

In a village, several individuals have been diagnosed with fungal infections (Ringworm). Explain
the causes of its spread and suggest preventive measures.

10. IE T AT HE 3UIR YeHfd (cancer treatment) ST faehrd fovm STrdT g, dr &
gy 3R RiATT ey et & v e qderon & Jerar gem

If a new cancer treatment is developed, what trials must it undergo to be proven effective and
safe?

11, Sa-3aal (biofertilizers) % ITANT & URYRh IHATAh Fcehl T Jolall H
fAedr & 3RAr 3R TATaROT W FIT AT 93T &2

How do biofertilizers affect soil fertility and the environment compared to traditional chemical
fertilizers?

12 ®R & Aue # FgeAsidl H HHAF T W §U, Th AIR dTferpT H 3
FIT T H Sifde AT T 39T 7 ToAg &7 IS §1 ST TS o oTdHT Fr
SITET HIfST]

Considering the role of microbes in waste disposal, a municipality is advised to adopt biological
methods for solid waste management. Explain the benefits of this system.

13.  Thdler 3R SR 3cUres H FEASAr AT RS 1 faRevor ST 3R
FHASSU T I8 IRURS 3¢eT Aidl & Hd SgdX 8l TohdT gl

Analyze the role of microbes in ethanol and biogas production and explain how they can be a
better alternative to conventional fuel sources.

14.  afe R Far & rcafds darer (Algal Bloom) FT far@ g S1am &, @ I8
qIRTEATAHRT T (ecosystem) & HE FIfad HWM AR @0 Fuea & 6T Hla-Fla @

39T 39T ST Hehd 872
If an excessive algal bloom occurs in a water body, how will it impact the ecosystem, and what
measures can be taken to control it?

15. Saccharomyces cerevisiae T 31T TafdeaT gred 3curar 3R m EIETIK]
H AT ST &1 38 GeAsNd & agodisilicAs 3TAa 1 saredr Hifel

Saccharomyces cerevisiae is used in various food products and industrial processes. Explain its
multiple applications.

16. TRAEI P Tollg & 715 & f& 3 freamerepr Fr FomF A9-fATF0T (biocontrol)
fafaat &1 3uier & 38 ggufad & gsTafierar &1 dafas fagewor Hifav|

Farmers are advised to use biocontrol methods instead of pesticides. Analyze the scientific
effectiveness of this approach.

17.  Teh qallleh ITHYUTA & 3HJHR, HS SFERAT HURISC ST (wastewater) Y
3UARA &l H AGE X Fohd gl 38 Ufshar & AT 3R ad30 % Ig arjaRs
STl et geufadr @ a 31 gl
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According to scientific research, certain bacteria can help treat wastewater. Explain this process
and how it differs from conventional water treatment methods.

18. Ife frdl &7 & SFIRAIBIST (bacteriophage) ST 39T GﬁaTUI HhAUT T
TaRa & & v fFar ST, ar s9% oeT 3R AT F=237 gieie

If bacteriophages are used to control bacterial infections in a region, what would be the benefits
and limitations of this approach?

19.  FT 3NN A FHASNAl & ITANT F SAT-9GT0T (bio-pollution) T HHEIT ScTeed
g Fhdl ¥| S0 HAEAT FT gl el & [oT fohet JoAIfeieh 3URAT &1 3(IART ST Fehell
g7

The use of microbes in certain industries can lead to bio-pollution. What scientific measures can
be taken to resolve this issue?

20. Ueh A H WIGT Yardt # Lactobacillus SFERAT dT 39ieafa aig 718, o
fhuasT (fermentation) 81 8T AT 3 TeaAT & IS &I Sifde wfehar &I @HsmsT 3R

SHb PRIcHS T APRIcHS JHTGT I STEIT HITAT|

In a city, Lactobacillus bacteria were found in food items, leading to fermentation. Explain the
biological process behind this and discuss its positive and negative impacts.

Case Study Based Questions
Case Study 1:

In a small village, frequent cases of high fever and body aches were reported. The local health
officer identified that many people were suffering from malaria and dengue, which are caused
by Plasmodium and Dengue virus, respectively. Stagnant water was found in open drains and
uncovered containers, serving as a breeding ground for mosquitoes. The health department
initiated an awareness campaign about using mosquito nets, applying repellents, and eliminating
stagnant water sources. In addition, biological control methods, such as introducing Gambusia
fish in ponds, were promoted.

T O ¥ Mg H IR-GR o §ER 3R R # & & &g AW THA 3T| T TR
RPN A Ig Ted fHar & sgd @ T HARAT AR Sy @ N3T A, S AW
Wﬁﬂ%ﬂﬂﬁ??ﬂqmw?ww%ﬁ%lqﬁmﬁﬁ?mwmﬁmﬁm?ﬂ
el 91T 9T, S ATERT & UolUel & TATT el AT AT| FOEy fQHET & AToieer &
39T, Rele @91 3R BEX §U It & Fldl PN FACA oA & TR H Th S9Ehdl
sfdrarer E framl sae srfafed, dreret 7 sgfier Fefadl @ o S Sifds @=or &
39t & Serar feam I

Questions:
1. FARAT AR S97 & arEeh (vector) HieT ¥ I 82 (1 Mark)
Which vectors transmit malaria and dengue?

2. Sfd® [FIFAUT & ®T FH Gambusia AST T 39T HH AT ATAT 82 (1 Mark)

How is Gambusia fish used as a biological control method?
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3. FARAT 3R ST AT YHUH & AT FleT-hled & FHTE IUTT IJTAT ST Hehd &2

(2 Marks)
What are the effective measures to prevent malaria and dengue?

Case Study 2:

Aman was suffering from bacterial pneumonia and was prescribed a broad-spectrum antibiotic
by his doctor. However, he stopped taking the medicine after three days, as he felt better. A
month later, he fell ill again, but this time, the same antibiotic did not work. The doctor
explained that incomplete antibiotic courses lead to the survival of resistant bacteria, which
makes future infections harder to treat. The government has been running awareness campaigns
on the judicious use of antibiotics to prevent antimicrobial resistance (AMR).

3T dFERTT FAfEar @ fifsa a1 3R Siger 3 38 ' FuE TacH
TEIeeh Gal ofel I Hellg &1 oiféhed el &t &1 59 g8 UST 9§k HGHH i
A, dt 3T al ofelT §¢ X 6Tl T A §1¢ g8 o & fER & a3, dfreT s
IR 97 TAErAfes gar 3T g A W@ M| Siaed F gAsn gl e
edr el ¥ $T JFARAT Sfad I Sd €, S gar & gfd gfekiess g1 o ¢, foad
HTAST H THHAUT T SATST FLAT Hided & ST &l TSR fadoiids IfaeT (AMR) Fi
Uehel & foIv Téamaifess gansit & faderqul 3UAer i Ao SR iR el

R
Questions:
1. TR YT (Antibiotic Resistance) & &FIT a9y &2 (1 Mark)
What is meant by antibiotic resistance?
2. CErIesh T [qdehqul 39ANT &4t AT &2 (1 Mark)
Why is the judicious use of antibiotics necessary?
3. TERReE IR & Ushad & fAT Fid-wia T 39T Fo 31 god 82 2

Marks)
What measures can be taken to prevent antibiotic resistance?

Case Study 3:

Rahul, a bright 17-year-old student, started using drugs under peer pressure. Initially, he took
them occasionally but soon became dependent. His grades dropped, and his behavior changed.
His parents took him to a counselor, where he learned about the adverse effects of drug
addiction, including damage to the nervous system and liver. The counselor emphasized the
importance of awareness programs and family support in preventing substance abuse among
teenagers.

Teh AYET 17 9uT orF Tlg?r,mﬁru"r % GEId H TR ALY FT AT Fel o9 AE A
39 F-HAT AT T, AfheT STedr & 3THT 3ed U TS| 3T 3ih R o 3R
gagR # off scarg 3 9| 3T% ATT-ar 38 U HI3TOR & 9 o T, gl
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3 ALY N A o gWHTET b aR H S, [T ARt dF 3R Fohd (fdaR) 3 g
aTell Jehdllel MAS 81 FE3HR o R # 7 I QehUH & T ST
FIHAT 3R aTRERe TgarET i JAgar W AR e

Questions:
1. =Tefelr gar3it &7 AdeT fheiRT & TAEeT HF Fd AT AT &2 (I Mark)

How does drug abuse affect adolescents' health?
2. TRART A AMe a3l & A &I el & TAT FiT-dled § FATSS 39T
frw ST TR 82 (1 Mark)

What social measures can be taken to prevent drug abuse among adolescents?

3. ALMel ganit fr ad ¥ 3R & v Fla-dla & 3urg gmET 8 I 82 (2

Marks)
What effective measures can help overcome drug addiction?

Case Study 4:

Neha visited a dairy farm where she saw large tanks of fermenting milk. The owner explained
that microbes like Lactobacillus are used in curd formation. He also mentioned that microbes
play a crucial role in making cheese, bread, and alcoholic beverages through fermentation. In
bakeries, yeast (Saccharomyces cerevisiae) helps in fermentation, making bread soft and fluffy.
Such microbial processes have significantly improved food production and preservation over
time.

el o Ueh STU WA T GNT T, T8l 38 qY & Thudel alel 93 & 3W| HAlfoleh o adrm
& egr JTH H Lactobacillus ST H\&'ﬂ?ﬁﬁ’i’ FT 39T fRar J1ar g1 39 I8 Y §arm &
iR, 53 AR A 9 & AT F o Fvad & AeIHw § GEASa FAgcaqur HfAer e
8| S A Saccharomyces cerevisiae (AFC) FT 3UANT fhvdar & fohar orar g, T@d 88 A
3R Gell €5 I 1 3 THR & AT YfHAHT A TAT & @Y WeF 3 3R
HIETUT &l HIBT dgd] 1T B
Questions:
1. GE A # Hi-A1 GaAeha w2t f&Far Siar 82 (1 Mark)
Which microbe is used in curd formation?
2. Saccharomyces cerevisiae T 3T G| [ GHEHIOT H Hha fhar JTar 82 (1 Mark)
How is Saccharomyces cerevisiae used in food processing?

3. HISlT 3cUleed H ANl T AR & Iooll RV (2 Marks)

Mention the role of microbes in food production.

Case Study 5:

A city faced a severe water pollution problem due to untreated sewage being dumped into
rivers. The municipal corporation decided to implement a sewage treatment plant (STP), where
microbes were used to break down organic waste in different stages. In the primary stage,
large solids were removed, and in the secondary stage, aerobic bacteria decomposed organic
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matter. This treated water was then released safely into rivers. The initiative not only reduced
water pollution but also helped in water conservation.

Teh &Y I 3¢ Tlell ahl TR TATAT ST TTHAT AT 93T Fifeh a1 39T afgd
Hol &I AfGAT H 3Tl ST W@T ATl HR F9d o 387 gaear & Aues & fov v afga
Hol 3UAR §IF (STP) TAMU &tel &1 HOTT Tordm, for@d gedsial 1 Aqg & Sifde
s H AffieT ot 7 faufea BFar mar yRfAF wor 7, 93 3 gerf & gar
fear s, 3R gfade o # Wifss sFERar o Afas gerat & Rafea BFar
S8 d1¢ 3UARA el & FIEId §7 & AfCAT # SIS I=7| 36 Ugel § o Shael STl
YeNUT H HHAT IS, Sfceh STel HIETUT 7 8 Feg Al

Questions:

1. afgd Al 39AR TIT (Sewage Treatment Plant) H hle-ahleT & q&msha’ AT
v Sa 82 (1 Mark)

Which microbes are used in sewage treatment plants?

2. aIfgd A 3R & ATCTH H ST TGWOT &l HA AT ST Hehell 82 (1 Mark)
How can sewage treatment help in preventing water pollution?

3. dfgd Hel 3UAR H FEHNG! Sl ${HBT HT U HITSAT| (2 Marks)

Describe the role of microbes in sewage treatment.
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